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1. Fill in the blank with your.answer (7 pts each)

(a) Find hm sin(a+2z)—2 sm(a+z)+sm % Ans:

(b) Find hm (1+-+-—;) . Ans;

(c) Evaluate -l-%ﬂﬁdz Ans:
(d) Evaluate "'/ 2 f; /2 S02gydy. Ansi

(¢) Find the maximum value of the function f (z,y) = z3/4y’/* subject to the constraint z+y = 100,
where z,y > 0. Ans: .

(f) Find the solution of the initial-value problem: 3% 49y =e%andy(0)=0. Ans:

(g) Calculate the volume of the torus obtained when the circle of radius 1 centered at (2, 0) is revolved
about the y-axis. Ans:

2. (12 pts) Find the absolute maximum and the absolute minimum values of the function

T+ cosz
f (=)= 1+sinz

on the interval [0, 7r] .

. {12 pts) Assume that the rate of change of the supply of a commodity is proportlonal to the difference
between the demand and the supply so that

ds

£ =k(D-8)

where k is a constant of proportlonahty Suppose that D is constant and §(0) = So. Find a formula

for S (t).

. (12 pts) Find the critical points of f(z,y) = z® — 322 + y? and determine whether f has a local
maximum, local minimum, or saddle point at each of these critical points.
. (15 pts) Let : .

. 1 .
o) ={ ysin (s it (2,9) # (0,0

0 if (z,9)=1(0,0)

(2) Do 3£ (0,0) and 4L (0,0) exist?
(b) Is f continuous at (0,0)?



